BEFORE THE COLLECTOR, U.T. ADMINISTRATION OF DAMAN & DIU, DAMAN. AWARD UNDER SECTION 23 OF THE RIGHT TO FAIR Compensation and Transparency in Land Acquisition Rehabilitation and Resettlement Act, 2013.

CASE No.

: No.3/13/2017/LQN/CG/2017/ ブテム O

NAME OF THE VILLAGE

: KATHIRIA , NANI DAMAN.

NATURE OF THE ACQUISITION : PERMANENT

TALUKA

: DAMAN

DISTRICT

: DAMAN

PURPOSE OF ACQUISITION

: LAND ACQUISITION FOR ESTABLISHING TERMINAL

COMMERCIAL AIRPORT

DAMAN.

INTRODUCTION:

These proceedings are under provision of Section 23 of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013 for determination of compensation in respect of net area of land proposed to be acquired for purpose of Establishing Commercial Airport Terminal at Daman. The land acquisition proceedings were initiated with the publication of Preliminary Notification under section 11 of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013.

The Executive Engineer, Public Works Department, Daman had submitted a land acquisition proposal for purpose of Establishing Commercial Airport Terminal at Daman.

PUBLICATION OF NOTIFICATION AND ISSUE OF NOTICES:

The Preliminary Notification No. 3/13/2017/LQN/CG/2017/11914 dated 26/12/2017 was notified under section 11 of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013 that the land described in the schedule hereto (thereafter referred to as the said land/lands) was needed or likely to be needed for the public purpose.

Vide report No.3/13/2017/LQN/CG/2017/4536 dated 07/05/2018 was submitted to the Government Authority i.e. Administrator of Daman & Diu seeking approval to proceed with acquisition process and the same was approved by the Appropriate Government i.e. Administrator of Daman & Diu.

Vide Declaration No. 3/13/2017/LQN/CG/2017/6248 dated 04/07/2018, it was declared under the provision under Section 19 of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013 that the

said lands were required for the public purpose namely for the acquisition for purpose of Establishing Commercial Airport Terminal at Daman.

In connection with acquisition of total land admeasuring 52429.00 sq. mtrs. for acquisition of proposal for purpose of Establishing Commercial Airport Terminal at Daman, the Administration of Daman intended to take possession of the land, the particulars of which were given in the declaration u/s 19(1) of the Right to Fair compensation & Transparency in Land Acquisition Rehabilitation and Resettlement (RFCTLARR) Act, 2013.

To facilitate causation of the above requirements, public notice was served under section 21 of the RFCTLARR Act, 2013 that all persons having interest in the said land to appear personally or by agent or advocate before the Collector, Daman on 04/08/2018 and to state in writing and signed by the party or his agent, the following:

- a) The nature of their respective interest in their land;
- b) The amount and particulars of their claims to compensation for such interests;
- c) Their objection if any to the measurements made and marked on the referred area.

Under Section 21 of the RFCTLARR Act, 2013, the Government intended to take possession of the land on <u>07/08/2018 at 10.00 hrs.</u> and claims to compensations and rehabilitation and resettlement for all interests in the land, had to be submitted to the Collector for disposal on or before <u>04/08/2018 at 15.00 hrs.</u>

The UT Administration of Daman & Diu is satisfied, on the basis of the Right to Fair compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013, because no displacement of family/families will occur due to proposed acquisition process.

POSSESSION OF THE LAND:

The possession of land proposed for acquisition of Village Kathiria, Nani Daman are taken vide Notice No. 3/13/2017/LQN/CG/2017/6271 dated 04/07/2018.

All interested parties have been issued Notices under Section 21 of the said Act, which mentions that "the Collector shall give immediate notice of his awards to such of the persons interested."

Under sub section (1) & (2) of Section 22 of the said Act, the Collector may also require any such person to make or deliver to him a statement containing the name of every other person possessing any interest in the land or any part thereof as coproprietor, sub-proprietor, mortgage, tenant or otherwise, and of the nature of such interest, and of the rents and profits, if any received or receivable on account thereof for three years next preceding the date of statement, every person required to make or deliver a statement under this section shall be deemed to be legally bound to do so within the meaning of section 175 and 176 of the Indian Penal Code (45 of 1860).

W

JOINT MEASUREMENT:

The Land Acquisition Collector, Daman had requested for joint measurement of the land through the Surveyors. The joint measurement of land was carried out by surveyor along with officials of the Executive Engineer, P.W.D., Daman.

OWNERSHIP:

Names of the persons whose land under acquisition was reflected in the record of rights were ascertained from the revenue records and the same are shown in Award statement. No other person except shown in the Award statement has claimed ownership or claim of compensation with regard to their land under acquisition and compensation thereof.

SITUATION AND DESCRIPTION OF THE LAND:

The Land under acquisition is agriculture as well as non agriculture lands and situated at Village Kathiria, Nani Daman.

LOCATION OF THE LAND:

The total acquired land admeasuring 52429.00 Sq. Mts. Situated at Village Kathiria, Nani Daman.

VALUATION OF THE LAND:

The principal for assessing the amount of compensation to be awarded as per the laid down provision under section 26 (1) of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013. The matter to be considered in determining compensation has also been provided under section 28 of the said Act.

The criteria in accessing and determining the market value of the land/crop/assets are as under:-

- 1. The market value as determined under section 26 and the award amount in accordance with the First and Second Schedules;
- 2. The damage sustained by the person interested, by reason of taking of any standing crops or trees which may be on the land at the time of the Collector's taking possession thereof; which is "NIL'.
- 3. The damage [if any], sustained by the person interested, at the time of Collector's taking possession of land, by reason of severing such land from his other land; which is 'NIL".
- 4. The damage [if any], sustained by the person interested, at the time of Collector's taking possession of land, by reason of the acquisition injuriously affecting his other property, movable or immovable, in any other manner, or his earnings; which is "NIL'.
- 5. In consequences of the acquisition of the land by the Collector, the person interested is compelled to change his residence or place of business, the reasonable expenses [if any] incidental to such damage; which is "NIL'.

h

- 6. The damage [if any] bonafide resulting from diminution of the profits of the land between the time of publication of the profits of the declaration under Section 19 and the time of Collector's taking possession of the land; and; which is "NIL'.
- 7. Any other ground which may be in the interest of equity, justice and beneficial to the affected families, have been considered.

DETERMINATION OF COMPENSATION:

As per the provision of Section 30[1] of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013, 100% of the market value is to be awarded as Solatium as has been determined in the Award statement.

COMPENSATION OF LAND:

The compensation of land is to be paid to land interested persons. The total amount of award workout to be Rs. 10,29,56,855/- (Rupees Ten Crore Twenty Nine Lakhs Fifty Six Thousand Eight Hundred Fifty Five only).

SUMMARY OF THE AWARD.

The award is summarized as under:-

А	Total Area of the Land Acquired from interested persons of 52429.00 Sq. Mts.	Rs. 4,59,33,046.00
В	100% Solatium on market Value.	Rs. 4,59,33,046.00
С	Additional Amount @ 12% Interest for 1 year & 3 months.	Rs. 68,89,963.00
D	Value of Trees including 100% Solatium.	Rs. 42,00,800.00
Е	Total value of Award (A+B+C+D)	Rs. 10,29,56,855.00

The details of compensation of the land acquisition as per the **Annexure – I, II & III** are enclosed herewith.

MUTATION OF OCCUPANCY IN RESPECT OF THE SAID LAND BEING ACQUIRED:

The acquiring Department should ensure that the record of right and all the relevant documents relating to the ownership / Occupancy of the said land are accordingly modified and show the transfer of the said land solely in the name of Government consequent to taking over possession of the said land and the payment of the compensation to the concerned interested parties.

CORRECTION OF THE RECORD IN THE RECORD OF RIGHTS:

The Mamlatdar, Daman is requested to carry out necessary mutation in the Record of Rights in the name of Government in respect of the land so acquired as per the enclosed Award statement.

APPORTIONMENT:

Payment will be made according to the latest entries in the Revenue Record. In case of any dispute, which is not settled within reasonable time, the amount of compensation will be remitted to the Court under section 64 of the Right to Fair

N

Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013 for jurisdiction.

ENCUMBRANCES:

The land under acquisition is free from all encumbrances and it has been mentioned in the Award statement.

DOCUMENT REQUIRED FOR OBTAINING AWARD:

All the interested persons who are deemed lawfully entitled may receive compensation on submission of the below mentioned documents to office of the Collector, Daman during working hours.

- a) Original land documents.
- b) Nil Encumbrance Certificate from Sub Registrar, Daman.
- c) Receipt of Payment of land revenue till date, if any,
- d) In case of N.A. land, the claimant has to be produced the N.A. order & Sanad.
- e) A copy of Bank Account Pass Book.
- f) Pan Card/Aadhaar Card for identification.
- g) The claimant will have to produce latest I & XIV abstract Nakal of the land.

Place: DAMAN.

Dated:-06/09/2018.

Collector, Daman.

To

The All persons interested in lands (Through concerned Talathi).

Copy to:

- 1. The Joint Director of Planning and Statistics, Daman with a request to publish in the Official Gazette and supply 10(Ten) copies of the Gazette to this office.
- 2. The DIO, NIC, Daman with a request to upload on official Website.
- 3. The Chief Officer, Daman Municipal Council, Daman for wide publicity.
- 4. The Executive Engineer, PWD, Daman.
- 5. The Mamlatdar, Daman with a request to keep on notice board and to keep at prominent places at Kathiria and also requested to serve upon the persons interested in lands through the concerned Talathi.

	Annexure – I											
		De	tails of Compensation	of Land	<u>s for establishin</u>	g commercial A	irport Terminal a	at Daman				
									9.1			
Sr. No.	Survey No.	Area of land acquired in(Sq. Mtrs.)	Name of persons believed to be having interest	Class of land	Market value @ 100 Sq. mtrs. for village Kathiria, Nani Daman Rs. 87,610/-, (Agriculture land)	Multiplication Factor 1	Solatium100% on Multiplication value of land	Additional Amount @ 12% interest for 1 year & 3 months	িনিotal compensation on land			
1	2	3	4	5	6	7	8		9.			
1	102/-	1850	Ishwar Keshav Patel	Kyari	1620785.00	1620785.00	1620785.00	243118.00	3484688.00			
2	102/3	600	Somliben Bhagwan, Rohit Deugi & Naresh Deugi	Kyari	525660.00	525660.00	525660.00	78849.00	1130169.00			
3	103/1	1040	Devliben Chhibubhai Patel, Thakorbhai Chhibubhai Patel,	Kyari	911144.00	911144.00	911144.00	136672.00	1958960.00			
4	104/1	150	Ganeshbhai Somabhai Tandel	Kyari	131415.00	131415.00	131415.00	19712.00	282542.00			
5	104/2	210	Ganeshbhai Somabhai Tandel	Kyari	183981.00		183981.00		395559.00			
6			Lallu Jogi	Kyari	2102640.00	2102640.00	2102640.00	315396.00	4520676.00			
7	105/2	440	Raman Morar & Raghu Babu	Kyari	385484.00	385484.00	385484.00	57823.00	828791.00			

	8 105/3	200	Ranchhod Mangar	Kyari	175220.00	175220.00	175220.00	26283.00	376723.00
	9 106/1	3470	Lakman Deugi	Kyari	3040067.00	3040067.00	3040067.00	456010.00	6536144.00
1	106/2		Manoj Ishverlal Naik	Kyari	630792.00	630792.00	630792.00	94619.00	1356203.00
1	107/1		Durlabh Hira & Babu Hira	Kyari	1051320.00	1051320.00	1051320.00	157698.00	2260338.00
1	107/2	600	Jashiben Nagarji Patel, Rajesh Nagarji Patel, Sanjay Nagarji Patel	Kyari	525660.00	525660.00	525660.00	78849.00	1130169.00
1	107/3		Raman Morar & Raghu Babu	Kyari	1138930.00	1138930.00	1138930.00	170840.00	2448700.00
1	108/1	800	Durlabh Hira & Babu Hira	Kyari	700880.00	700880.00	700880.00	105132.00	1506892.00
1	108/2	900	Raman Morar & Raghu Babu	Kyari	788490.00	788490.00	788490.00	118274.00	1695254.00
1	108/3		Dhansukh Ramu & Vijay Ramu	Kyari	1051320.00	1051320.00	1051320.00	157698.00	2260338.00
1	109/1	1000	Pankaj Sukar, Jayanti Sukar, Mahendra Sukar	Kyari	876100.00	876100.00	876100.00	131415.00	1883615.00
1	109/2		Manoj Ishverlal Naik	Kyari	1138930.00	1138930.00	1138930.00	170840.00	2448700.00
1	109/3	1300	Pankaj Sukar, Jayanti Sukar, Mahendra Sukar	Kyari	1138930.00	1138930.00	1138930.00	170840.00	2448700.00
2	110/-	5936	Nandiben Sukkar, Pankajbhai Sukkar, Jayantibhai Sukkar, Mahendra Sukkar	Kyari	5200530.00	5200530.00	5200530.00	780080.00	11181140.00
2	21 111/1		Dhansukh Ramu & Vijay Ramu	Kyari	262830.00	262830.00	262830.00	39425.00	565085.00
2	22 111/2	300	Ranchhod Mangal	Kyari	262830.00	262830.00	262830.00	39425.00	565085.00
	111/3		Jashiben Nagarji Patel, Rajesh Nagarji Patel, Sanjay Nagarji Patel	Kyari	1401760.00	1401760.00	1401760.00		3013784.00
2	24 111/4	500	Ramu Jogi	Kyari	438050.00	438050.00	438050.00	65708.00	941808.00

41 148/- Babu, Natwar Babu, 42 149/1 1500 Dhedia Soma Halpati Kyari Kyari 1159956.00 1159956.00 1159956.00 1159956.00 173993.00 2493905.00 42 149/1 1500 Dhedia Soma Halpati Kyari 1314150.00 1314150.00 1314150.00 197123.00 2825423.00					en come more que a come en come que en come en						
26		25	112/1		9	Kyari	2821042.00	2821042.00	2821042.00	423156.00	
116/3 S20 Ranchhod Mangal Kyari & Jirayat 455572.00 455572.00 455572.00 68336.00 979480.00		26	113/-			Kyari	928666.00	928666.00	928666.00	139300.00	1996632.00
28						Kyari &	455572.00	455572.00	455572.00	68336.00	979480.00
Bhana, Uttam Bhana & Kyari 823534.00 823534.00 823534.00 123530.00 1770598.00	1	28	116/4		0		884861.00	884861.00	884861.00	132729.00	1902451.00
Sabu		29	117/-		Bhana, Uttam Bhana &		823534.00	823534.00	823534.00	123530.00	1770598.00
121/- 270 Raman Morar & Raghu Ryari 236547.00 236547.00 236547.00 35482.00 508576.00		30	118/-	1440		Kyari	1261584.00	1261584.00			
32 121/- 270 Raman Morar & Raghu Eyari 236547.00 236547.00 236547.00 35482.00 508576.00		31	119/3	43	Ranchhod Mangal	Kyari	37672.00	37672.00	37672.00	5651.00	80995.00
33 122/1 2284 Khalpa Bhangia Kyari 2001012.00 2001012.00 2001012.00 300152.00 4302176.00 34 122/2 570 Mangal Bhangia Kyari 499377.00 499377.00 499377.00 74907.00 1073661.00 35 142/- 80 Mithala Bhogi Kyari 70088.00 70088.00 70088.00 10513.00 150689.00 36				270	Raman Morar & Raghu	Kyari	236547.00	236547.00	236547.00	35482.00	
34 122/2 570 Mangal Bhangia Kyari 499377.00 499377.00 499377.00 74907.00 1073661.00 35 142/- 80 Mithala Bhogi Kyari 70088.00 70088.00 70088.00 10513.00 150689.00 36		33	122/1	2284		Kyari	2001012.00	2001012.00			
35 142/- 80 Mithala Bhogi Kyari 70088.00 70088.00 70088.00 10513.00 150689.00 36						Kyari	499377.00	499377.00	499377.00		
36		35	142/-	80	Mithala Bhogi	Kyari	70088.00	70088.00	70088.00	10513.00	150689.00
146/2		36	143/-	600	1 control of the cont	Kyari	525660.00	525660.00	525660.00	78849.00	1130169.00
38 Vallabhbhai Durlabh Tandel, Narsinhbhai 12265.00 12265.00 12265.00 1840.00 26370.00 39 147/1 1100 Khalpa Bhangia Kyari 963710.00 963710.00 963710.00 144557.00 2071977.00 40 147/2 1200 Mangal Bhangia Kyari 1051320.00 1051320.00 157698.00 2260338.00 41 148/- 1324 Gangaben Babu, Arvind Babu, Natwar Babu, Kyari 1159956.00 1159956.00 1159956.00 173993.00 2493905.00 42 149/1 1500 Dhedia Soma Halpati Kyari 1314150.00 1314150.00 1314150.00 197123.00 2825423.00		37	146/1	1000	Mangal Makan	Kyari	876100.00	876100.00	876100.00	131415.00	1883615.00
40 147/2 1200 Mangal Bhangia Kyari 1051320.00 1051320.00 1051320.00 157698.00 2260338.00 41 148/- 1324 Gangaben Babu, Arvind Babu, Natwar Babu, Natwar Babu, Kyari 1159956.00 1159956.00 1159956.00 173993.00 2493905.00 42 149/1 1500 Dhedia Soma Halpati Kyari 1314150.00 1314150.00 1314150.00 197123.00 2825423.00		38	146/2	14	Vallabhbhai Durlabh	Kyari	12265.00	12265.00	12265.00	1840.00	26370.00
41 148/- 1324 Gangaben Babu, Arvind Babu, Natwar Babu, Natwar Babu, Natwar Babu, Kyari 1314150.00 1314150.00 1314150.00 197123.00 2825423.00		39	147/1	1100	Khalpa Bhangia	Kyari	963710.00	963710.00	963710.00	144557.00	2071977.00
41 Babu, Natwar Babu, 1159956.00 1159956.00 1759956.00		40	147/2	1200	Mangal Bhangia	Kyari	1051320.00	1051320.00	1051320.00	157698.00	2260338.00
42 101 10007 00 10007 00		41	148/-	1324		Kyari	1159956.00	1159956.00	1159956.00	173993.00	2493905.00
43 149/2 1143 Budha Makan Kyari 1001382.00 1001382.00 1001382.00 150207.00 2152971.00		42	149/1	1500	Dhedia Soma Halpati	Kyari	1314150.00	1314150.00	1314150.00	197123.00	2825423.00
		43	149/2	1143	Budha Makan	Kyari	1001382.00	1001382.00	1001382.00	150207.00	2152971.00

44	150/1	2000	Budhia Mangal	Kyari	1752200.00	1752200.00	1752200.00	262830.00	3767230.00
45	150/2	1145	Lakhama Hari Kapri	Kyari	1003135.00	1003135.00	1003135.00	150470.00	2156740.00
46	151/1	180	Ishwar Keshav Patel	Kyari	157698.00	157698.00	157698.00	23655.00	339051.00
47	153/-	470	Sukkar Mitha, Prema Mitha, Bijia Mitha, Vallabh Mitha, Diwaliben Madhu, Jagdish Madhu, Arvind Madhu, Vinod Madhu, Mukesh Madhu, Kalavatiben Devji Tandel, Umesh Devji Tandel.	Kyari	411767.00	411767.00	411767.00	61765.00	885299.00
	3.0	52429	TOTAL	0	45933046.00	45933046.00	45933046.00	6889963.00	98756055.00

(Sandeep Kumar Singh)
Land Acquisition Collector, Daman.

Annexure – II

Details of Compensation of Lands for establishing commercial Airport Terminal at Daman

						nercial Airport I			
Sr. No.	Survey	Name of the persons	Type of trees	No. of trees	Rate	Total	Compensation	Solatium 100%	Grand Total
	No.	believed to be having interest	*			*	of trees		
1	2	3	4	5	6	7	8	9	10
1	102/-	Ishwar Keshav Patel	Khajuri	46	3600	165600	169600	169600	339200
			Khajuri (Small)	8	500	4000		·	
2	102/3	Somliben Bhagwan, Rohit	Khajuri	5	3600	18000	19500	19500	39000
		Deugi & Naresh Deugi	Neem	1	500	500			
			Junglee	2	500	1000			* 1
3	103/1	Devliben Chhibubhai Patel,	Chickoo	7	7500	52500	91500	91500	183000
		Thakorbhai Chhibubhai	Temrine	3	1000	3000			
		Patel, Rameshbhai Chhibubhai Patel,	Mango Small	4	4500	18000			
	۶.	Shaileshbhai Chhibubhai Patel	Khajiru	-5	3600	18000) F	×	
4	104/1	Ganeshbhai Somabhai	Chickoo	3	7500	22500	33300	33300	66600
		Tandel	Khajuri	3	3600	10800			
5	104/2	Ganeshbhai Somabhai Tandel	0	0	0	0	0	. 0	0
1 6	105/1	Lallu Jogi	Chickoo	4	7500	30000	58800	58800	117600
			Khajuri	8	3600	28800	15.4 (5.2000)		
7	105/2	Raman Morar & Raghu	Khajuri	8	3600	28800	45800	45800	91600
		Babu	Khajuri (Small)	4	500	2000			
			Chickoo	2	7500	15000			
8	105/3	Ranchhod Mangar	Khajuri	7	3600	25200	25200	25200	50400
9	106/1	Lakman Deugi	Chickoo	23	7500	172500	292700	292700	585400
			Bordi	1	500	500			
			Khajuri	32	3600	115200		1 2	·
	v		Khajuri (Small)	3	500	1500			
			Bordi	4	. 500	2000			
			Neem	1	500	500	4		
			Junglee	1	500	500			

h

10	106/2	Manoj Ishverlal Naik	Khajuri	5	3600	18000	79000	79000	158000
			Khajuri (Small)	2	500	1000			
			Chickoo	8	7500	60000			
11	107/1	Durlabh Hira & Babu Hira	Khajuri	13	3600	46800	51300	51300	10260
			Khajuri (Small)	3	500	1500	*		
		**	Bordi	5	500	2500	0 1		
			Junglee	1	500	500			
12	107/2	Jashiben Nagarji Patel, Rajesh Nagarji Patel,	Bordi	3	500	1500	15900	15900	3180
		Sanjay Nagarji Patel	Khajuri	4	3600	14400		21	
13	107/2	Raman Morar & Raghu	Chickoo	3	7500	22500	41500	41500	8300
		Babu	Khajuri	5	3600	18000	ā		
			Junglee	2	500	1000			
14	108/3	Durlabh Hira & Babu Hira	Khajuri	25	3600	90000	90500	90500	18100
		- 22	Neem	1	500	500	4		
15	108/2	Raman Morar & Raghu Babu	Khajuri	11	3600	39600	39600	39600	7920
16	108/3	Dhansukh Ramu & Vijay Ramu	Khajuri	12	3600	43200	43200	43200	8640
17	109/1	Pankaj Sukar, Jayanti	Khajuri	5	3600	18000	23000	23000	4600
		Sukar, Mahendra Sukar	Khajuri (Small)	7	500	3500			
		2	Bordi	3	500	1500	,	E E	
18	109/2	Manoj Ishverlal Naik	Khajuri	3	3600	10800	11300	11300	2260
			Bordi	1	500	500		44	
19	109/3	Pankaj Sukar, Jayanti Sukar, Mahendra Sukar	Khajuri	2	3600	7200	7200	7200	1440
20	110/-	Nandiben Sukkar,	Khajuri	25	3600	90000	98500	98500	19700
		Pankajbhai Sukkar,	Khajuri (Small)	8	500	4000			
		Jayantibhai Sukkar,	Bordi	6	500	3000			
•		Mahendra Sukkar	Junglee	3	500	1500	×		
21	111/1	Dhansukh Ramu & Vijay	Khajuri	1	3600	3600	10600	10600	2120
		Ramu	Khajuri (Small)	12	500	6000			
			Neem	1	500	500			
1		_	Junglee	1	500	500			Λ.

22	111/2	Ranchhod Mangal	Khajuri	22	3600	79200	87200	87200	174400
		, tanonio a mangar	Khajuri (Small)	8	500	4000	0.20	3.233	
			Bordi	2	500	1000			
			Neem.	1	500	500			
			Junglee	5	500	2500	T .		
23	111/3	Jashiben Nagarji Patel,	Khajuri	5	3600	18000	22000	22000	44000
		Rajesh Nagarji Patel,	Junglee	2	500	1000			
		Sanjay Nagarji Patel	Bordi	4	500	2000			
			Babool	2	500	1000			
24	111/4	Ramu Jogi	Khajuri	3	3600	10800	11800	11800	23600
		*	Bordi	2	500	1000			
25	112/1	Raman Morar & Raghu	Khajuri	23	3600	82800	165800	165800	331600
		Babu	Khajuri (Small)	2	500	1000			
			Mango	5	15000	75000			
			Saru	2	500	1000			
		22	Tarmerine	1	1000	1000		*	
		8	Bordi	8	500	4000			
			Junglee	2	500	1000		1	
26	113/-	Jogi Jivan & Lallu Jogi	Khajuri	1	3600	3600	8600	8600	17200
			Khajuri (Small)	4	500	2000			
			Bordi	6	500	3000			
27	116/3	Ranchhod Mangal	Khajuri (Small)	2	500	1000	4000	4000	8000
			Bordi	4	500	2000			
			Babool	2	500	1000			
28	116/4	Gangaben Wife of Fakir	Khajuri	6	3600	21600	30800	30800	61600
		Dheda	Bordi	4	500	2000			
			Palm	2	3600	7200			
29	117/-	Dayal Bhana, Thakor	Khajuri	12	3600	43200	66700	66700	133400
		Bhana, Uttam Bhana &	Khajuri (Small)	10	500	5000			
		Harshad Bhana	Neem	1	500	500		700	
			Lemon	1	500	500		36	
			Babool	6	500	3000			
			Bordi	28	500	14000		*	
			Junglee	1	500	500			
30	118/-	Raman Morar & Raghu	Khajuri	9	3600	32400	99900	99900	199800
		Babu	Khajuri (Small)	15	500	7500			,
			Coconut	2	30000	60000			1

31	119/3	Ranchhod Mangal	Khajuri (Small)	4	500	2000	2000	2000	400
32	121/-	Raman Morar & Raghu	Khajuri	1	3600	3600	11100	11100	2220
		Babu	Khajuri (Small)	12	500	6000			
			Bordi	3	500	1500			
33	122/1	Khalpa Bhangia	Bordi	2	500	1000	3500	3500	700
		*	Khajuri (Small)	5	500	2500			
34	122/2	Mangal Bhangia	Khajuri	5	3600	18000	19000	19000	3800
		:	Bordi	2	500	1000		¥	
35	142/-	Mithala Bhogi	Khajuri	2	3600	7200	7200	7200	144
36	143/-	Dubar Laxman, Kantaben	Khajuri	3	3600	10800	19800	19800	396
		Thakor & Dipak Thakor	Bordi	12	500	6000		g.	
			Junglee	6	500	3000			
37	146/1	Mangal Makan	Khajuri	2	3600	7200	9200	9200	184
			Khajuri (Small)	3	500	1500			16.
			Bordi	1	500	500			
38	146/2	Laxmiben Durlabh, Vallabhbhai Durlabh Tandel, Narsinhbhai Durlabh Tandel, Laxmanbhai Durlabh Tandel, Hareshbhai Durlabh Tandel	0	0	0	0	9		
39	147/1	Khalpa Bhangia	Khajuri	21	3600	75600	76600	76600	1532
			Bordi	2	500	1000			
40	147/2	Mangal Bhangia	Khajuri	5	3600	18000	19000	19000	380
			Bordi	2	500	1000			
41	148/-	Gangaben Babu, Arvind Babu, Natwar Babu, Budhia	Khajuri	12	3600	43200	109200	109200	2184
		Babu, Budhu Babu,	Khajuri (Small)	8	500	4000			
		Kankuben Gulab, Suresh	Teakwood	3	5000	15000			
		Gulab	Junglee	2	500	1000		* *	
			Mango	3	15000	45000			
			Bordi	1	500	500		* ·	
			Neem	1	500	500			
			v			9			
						э			W

42	149/1	Dhedia Soma Halpati	Khajuri	8	3600	28800	33800	33800	67600
		·	Khajuri (Small)	6	500	3000			
		a	Junglee	2	500	1000			2
			Bordi	1	500	500	Ř		
			Babool	1	500	500			
43	149/2	Budha Makan	Khajuri	2	3600	7200	8200	8200	16400
			Badam	1	1000	1000			
44	150/1	Budhia Mangal	Khajuri	4	3600	14400	14400	14400	28800
45	150/2	Lakhama Hari Kapri	Bordi	1	500	500	15400	15400	30800
			Khajuri	4	3600	14400		5.	
		W 1	Khajuri (Small)	1	500	500			
46	151/1	Ishwar Keshav Patel	Khajuri	2	3600	7200	7200	7200	14400
47	153/-	Sukkar Mitha, Prema Mitha,	0 -	0	0	0	0	. 0	0
		Bijia Mitha, Vallabh Mitha,							
		Diwaliben Madhu, Jagdish							
		Madhu, Arvind Madhu,					Q 4	"	
		Vinod Madhu, Mukesh					¥		
		Madhu, Kalavatiben Devji							
		Tandel, Umesh Devji							
		Tandel.							
			Total		312200	2100400	n 2100400	2100400	4200800
			Iotai		312200	2100400	2100400	2100400	.,

(Sandeep Kumar Singh)
Land Acquisition Collector, Daman.

ANNEXURE - III

Details of Compensation of Lands for establishing commercial Airport Terminal at Daman

	Name of the persons believed to	OULACA 140'					~ .
	be having interest	,	Area in Sq. Mtrs.	Land Value	Assets Value	Amount @	Total
1	20 Having microst		IVILIS.			12% interest	
						for 1 year & 3	
4					•	months	
1	2	3	4	5	6	7	8
	Ishwar Keshav Patel	102/-	1850	3241570.00	339200.00	243118.00	3823888.00
	Somliben Bhagwan, Rohit Deugi & Naresh Deugi	102/3	600	1051320.00	39000.00	78849.00	1169169.00
	Devliben Chhibubhai Patel, Thakorbhai Chhibubhai Patel,	103/1	1040	1822288.00	183000.00	136672.00	2141960.00
	Rameshbhai Chhibubhai Patel, Shaileshbhai Chhibubhai Patel				7		
		10.111					
	Ganeshbhai Somabhai Tandel	104/1	150	262830.00	66600.00	19712.00	349142.00
	Ganeshbhai Somabhai Tandel	104/2	210	367962.00	0.00	27597.00	395559.00
	Lallu Jogi	105/1	2400	4205280.00	117600.00	315396.00	4638276.00
7	Raman Morar & Raghu Babu	105/2	440	770968.00	91600.00	57823.00	920391.00
	Ranchhod Mangar	105/3	200	350440.00	50400.00	26283.00	427123.00
	Lakman Deugi	106/1	3470	6080134.00	585400.00	456010.00	7121544.00
	Manoj Ishverlal Naik	106/2	720	1261584.00	158000.00	94619.00	1514203.00
	Durlabh Hira & Babu Hira	107/1	1200	2102640.00	102600.00	157698.00	2362938.00
	Jashiben Nagarji Patel, Rajesh	107/2	600	1051320.00	31800.00	78849.00	1161969.00
,	Nagarji Patel, Sanjay Nagarji Patel						
13	Raman Morar & Raghu Babu	107/3	1300	2277860.00	83000.00	170840.00	2531700.00
14	Durlabh Hira & Babu Hira	108/1	800	1401760.00	181000.00	105132.00	1687892.00
	Raman Morar & Raghu Babu	108/2	900	1576980.00	79200.00	118274.00	1774454.00
16	Dhansukh Ramu & Vijay Ramu	108/3	1200	2102640.00	86400.00	157698.00	2346738.00

17	Pankaj Sukar, Jayanti Sukar, Mahendra Sukar	109/1	1000	1752200.00	46000.00	131415.00	1929615.00
18	Manoj Ishverlal Naik	109/2	1300	2277860.00	22600.00	170840.00	2471300.00
19	Pankaj Sukar, Jayanti Sukar, Mahendra Sukar	109/3	1300	2277860.00	14400.00	170840.00	2463100.00
20	Nandiben Sukkar, Pankajbhai Sukkar, Jayantibhai Sukkar, Mahendra Sukkar	110/-	5936	10401060.00	197000.00	780080.00	11378140.00
21	Dhansukh Ramu & Vijay Ramu	111/1	300	525660.00	21200.00	39425.00	586285.00
22	Ranchhod Mangal	111/2	300	525660.00	174400.00	39425.00	739485.00
23	Jashiben Nagarji Patel, Rajesh Nagarji Patel, Sanjay Nagarji Patel	111/3	1600	2803520.00	44000.00	210264.00	3057784.00
24	Ramu Jogi	111/4	500	876100.00	23600.00	65708.00	965408.00
25	Raman Morar & Raghu Babu	112/1	3220	5642084.00	331600.00	423156.00	6396840.00
26	Jogi Jivan & Lallu Jogi	113/-	1060	1857332.00	17200.00	139300.00	2013832.00
27	Ranchhod Mangal	116/3	520	911144.00	8000.00	68336.00	987480.00
28	Gangaben Wife of Fakir Dheda	116/4	1010	1769722.00	61600.00	132729.00	1964051.00
29	Dayal Bhana, Thakor Bhana, Uttam Bhana & Harshad Bhana	117/-	940	1647068.00	133400.00	123530.00	1903998.00
30	Raman Morar & Raghu Babu	118/-	1440	2523168.00	199800.00	189238.00	2912206.00
31	Ranchhod Mangal	119/3	43	75344.00	4000.00	5651.00	84995.00
32	Raman Morar & Raghu Babu	121/-	270	473094.00	22200.00	35482.00	• 530776.00°
33	Khalpa Bhangia	122/1	2284	4002024.00	7000.00	300152.00	4309176.00
34	Mangal Bhangia	122/2	570	998754.00	38000.00	74907.00	1111661.00
35	Mithala Bhogi	142/-	80	140176.00	14400.00	10513.00	165089.00
36	Dubar Laxman, Kantaben Thakor & Dipak Thakor	143/-	600	1051320.00	39600.00	78849.00	1169769.00
37	Mangal Makan	146/1	1000	1752200.00	18400.00	131415.00	1902015.00

38	Laxmiben Durlabh, Vallabhbhai Durlabh Tandel, Narsinhbhai Durlabh Tandel, Laxmanbhai Durlabh Tandel, Hareshbhai Durlabh Tandel	146/2	14	24530.00	0.00	1840.00	26370.00
39	Khalpa Bhangia	147/1	1100	1927420.00	153200.00	144557.00	2225177.00
40	Mangal Bhangia	147/2	1200	2102640.00	38000.00	157698.00	2298338.00
41	Gangaben Babu, Arvind Babu, Natwar Babu, Budhia Babu, Budhu Babu, Kankuben Gulab, Suresh Gulab	148/-	1324	2319912.00	218400.00	173993.00	2712305.00
42	Dhedia Soma Halpati	149/1	1500	2628300.00	67600.00	197123.00	2893023.00
43	Budha Makan	149/2	1143	2002764.00	16400.00	150207.00	2169371.00
44	Budhia Mangal	150/1	2000	3504400.00	28800.00	262830.00	3796030.00
45	Lakhama Hari Kapri	150/2	1145	2006270.00	30800.00	150470.00	2187540.00
46	Ishwar Keshav Patel	151/1	180	315396.00	14400.00	23655.00	353451.00
47	Sukkar Mitha, Prema Mitha, Bijia Mitha, Vallabh Mitha, Diwaliben Madhu, Jagdish Madhu, Arvind Madhu, Vinod Madhu, Mukesh Madhu, Kalavatiben Devji Tandel, Umesh Devji Tandel.	153/-	470	823534.00	0.00	61765.00	885299.00
		The state of the s		91866092.00	4200800.00	6889963.00	102956855.00

(Sandeep Kumar Singh)
Land Acquisition Collector, Daman.